KNOWLEDGE

N — =

DATUM Q"

|
| |
12" 30" 48" 66" 84" 122" 151" 169" 2834 218 sl 3352

© & ® ® &

®
®
®

2 |oansns AS-BULLT ™o, [t AN
1 [ot2013 JSSUED FOR REVISED CONSTRUCTION Mc | Lw | PC
o loaranz ISSUED FOR CONSTRUGTION ps | w | Pc
REV. | DATE DESCRIPTION BY |cHKD|aPPD
CUSTOMER: TITLE / PROJECT:
3" INLET (10 WELLS) / 4" HEADER
PennWest

Expl ti 24"0D X 60" S/S X 720 PSI
Xp oration AB SOUR TEST SEPARATOR PKG

PACKAGE SERIAL NO. (s):

12-052-01
00114112
" 12-052-LAYOUT

DRAWING NAME: QUANTITY:

LAYOUT - PLAN VIEW

JOB NO. (Sk DRAWN BY: DATE:
12-052 D. BRYAN l

REV. NO.. PAGE N0 | SCALE: DRAWING NO.

OF 4

N.T.S.




108"

&

e

<leo
o

Z

(LOW EAVE) +~

DATUM 0"
(T.O.F)

&S lobalFlow

CUSTOMER: TITLE / PROJECT:

3" INLET (10 WELLS) / 4" HEADER

ger:nwte_St 24"0D X 60" S/S X 720 PSI
Xp oration AB SOUR TEST SEPARATOR PKG
DRAWING NAME: PACKAGE SERIAL NO. (sf
LAYOUT - SECTION A - 12-052-1
JOB NO. (8} DRAWN BY:
12-052 | D. BRYAN 09/14/12

REV.NQ.: PAGENO.: DRAWING N

SCALE: 0.2
20F4 l 3/8"=1'-Q" l 12-052-LAYOUT




e —— o —— e e ———

o
(HIGH EAVE) &

28 2”‘

;

AT
i@

108"

S

3
7275

] ¥
P s e Bt
DATUM 0" @ I-:D( —_I_ <
(T.O.F.)

SECTION 'C’

SECTION 'B'

@Iobalﬂow

SECTION 'D'

:d] CUSTOMER:

PennWest
Exploration

TITLE / PROJECT:
3" INLET (10 WELLS) / 4" HEADER
24"0D X 60" S/8 X 720 PSI
AB SOUR TEST SEPARATOR PKG

DRAWING NAME: QUANTITY:
LAYOUT - SECTIONS B, C, D ! 1

PACKAGE SERIAL NO. (s}

12-052-01

JOB NO. (8K

DRAWN
12-052 |

ay:
D. BRYAN

09/14/12

REV. NO.2

2

PAGE NO.

3 OF 4

SCALE: DRA
3/8"=1"-0" |

WING NO.:
12-052-LAYOUT




BILL OF MATERIALS

ITEM DESCRIPTION MATERIAL Qrv. HEAT NUMBER
1 SPOOL 01 1
2 SPOOL 02 1
3 SPOOL 03 1
4 SPOOL 04 1
5 SPOOL 05 1
6 SPOOL 06 1
7 SPOOL 07 1
8 SPOOL 08 1
9 SPOOL 09 1
10 SPOOL 10 1
11 SPOOL 11 1

12 SPOOL 12 1
13 SPOOL 13 2
14 SPOOL 14 5
15 SPOOL 15 2
16 SPOOL 16 1
17 SPOOL 17 1
18 SPOOL 18 1
19 . SPOOL 19 1
20 SPOOL 20 1
21 SPOOL 21 1
22 SPOOL 22 1
23 SPOOL 23 3
24 SPOOL 24 1
25 SPOOL 25 1
26 SPOOL 26 1
21 SPOOL 27 5
28 SPOOL 28 1
29 SPOOL 29 1
32 RFHB, 4° 300 ANSI W/ 1" NPT SA-350 LF2 CL.1 2
33 RFB, 3° 300 ANSI SA-350 LF2 CL.1 2
3 RFB, 2" 300 ANSI SA-350 LF2 CL.1 1
35 RFB, 2° 300 ANSI SA105N 2
36 RFTD, 2° 300 ANSI SA105N 4

GASKETS, STUDS, AND NUTS

GENERAL NOTES

DESCRIPTION MATERIAL QTY.
SPRLWND GSKT, 6" 300 ANSI FLEXIBLE GRAPHITE AISI TYPE 316L S5 2 1. QUALITY CONTROL PROGRAM IS AQP-1464
SPRLWND GSKT, 4* 300 ANS| FLEXIBLE GRAPHITE AISI TYPE 316L SS 18 3 THREADED PIPING IS GF-1 REV. 1
SPRLWND GSKT, 3" 3-600 ANS| FLEXIBLE GRAPHITE AlSI TYPE 316L SS 55
3. GENERAL DEVIATION TOLERANGE IS +/- 1/4"
SPRLWND GSKT, 2" 3-600 ANS! FLEXIBLE GRAPHITE AISI TYPE 316L S 38
STUD, 914" X 4.374" SA193 67 o 4. ALL OPENINGS SHALL BE COVERED FOR SHIPPING
STUD, 3/4" X 4-1/2" SA-193 B7TM 136 5. PACKAGE TO BE COMPLETELY DRAINED OF WATER BEFORE SHIFPING
STUD, 3/4" X 4-1/4"- SA-193 B7TM 408 6. ALL PIPING PROJECTIONS TO BE 6* UNLESS OTHERWISE NOTED
STUD, 3/4" X 5-1/4" SA-193 BTM 16
7. APPROXIMATE SHIPPING WEIGHT: 21,750 LBS
STUD, 5/8" X 3-1/2" $A-193 BTM 190
STUD, 5" X637 SA193 B7M e 8 APPROXIMATE SHIPPING DIMENSIONS: 110" W X 29-2° L X 14-0" H
STUD, 5/8" X 4-1/4° SA-193 B7TM 16 9. ERGONOMICS MUST BE CONSIDERED FOR PLACEMENT OF KNOWLEDGE BOX,
TUD, 570" X T SA93 5T 5 HEATER, AND METERING EQUIPMENT
STUD, 5/8° X 4-1/2" SA-193 B7TM 24
NUT, 3/4 SA-194-2HM 1168
NUT, 518" SA-194-2HM 512

EXTERNAL PAINTING & PREP.

SURFACE PREPARATION (EXT): SSPC-SP6
PRIMER (EXT): RUST-OLEUM QUICK-DRY

TOP COAT (EXT): RUST-OLEUM ENAMEL

TOP COAT THICKNESS (EXT): 1.5 TO 2.0 MILS DFT
TOP COAT COLOR: LIGHT MACHINE GREY
INSULATION: .

HEAT TRACING: .

JACKET: .

BANDING: .

PACKAGE CONNECTION SCHEDULE

A1-2 | 4"300 ANSI RF, EMULSION INLET
B1-10| 3" 300 ANSI RF, EMULSION INLET
c 6" 300 ANSI RF, EMULSION OUTLET
D 1" 150 ANSI MNPT, PSV OUTLET
E 2" 150 ANSI MNPT, DRAIN HEADER OUTLET
F 2300 ANSI RF C/W 2" FNPT (PLUGGED), PROVER OUTLET
G 27300 ANSI RF C/W 2" FNPT (PLUGGED), PROVER OUTLET
ASME B31.3 CURRENT EDITION _
RATING / FLUID SERVICE: 300 ANSI, NORMAL, SOUR, STD TEMP, CLASS "BS/BST* | RATING / FLUID SERVICE: 300 ANSI, NORMAL, SOUR, STD TEMF, CLASS "BSL" RATING / FLUID SERVICE: 150 ANSI, NORMAL, SOUR, STD TEMP, CLASS ’“As} AST* RATING / FLUID SERVICE: 150 PS1, NORMAL, SWEET, STD TEMP, CLASS "AU"
M.AW.P.: 720 PSIG (4964 kPa) AT +100°F (+38°C) / -20°F (-29°C) M.AW.P.: 720 PSIG (4964 kPa) AT +100°F (+38°C)/ -50°F (-45°C) M.AW.P.: 285 PSIG (1965 kPa) AT +100°F (+38°C) / -20°F (-29°C) M.AW.P.: 150 PSIG (1034 kPa) AT +100°F (+38°C) / -20°F (-29°C) @l°ba I Flow
CORROSION ALLOWANCE: 0.0625" (1.6mm) | TESTING MEDIUM: WATER CORROSION ALLOWANCE: 0.0625" (1.6mm) ] TESTING MEDIUM: WATER CORROSION ALLOWANCE: 0.0625" (1.6mm) | TESTING MEDIUM: WATER CORROSION ALLOWANCE: 0.0625" (1.6mm) | TESTING MEDIUM: NITROGEN o = e
TESTING PRESSURE: 1080 PSIG (7447 kPa), 60 MIN., (2) GAUGES & (1) CHART TESTING PRESSURE: 1080 PSIG (7447 kPa), 60 MIN., (2) GAUGES & (1) CHART TESTING PRESSURE: 427 PSIG (2944 kPa), 60 MIN., (2) GAUGES & (1) CHART TESTING PRESSURE: 165 PSIG (1138 kPa), 15 MIN., (2) GAUGES R .
CONNECTION: THREADED | CONNECTION TESTING: HYDRO CONNECTION: THREADED [ CONNECTION TESTING: HYDRO CONNECTION: THREADED ! CONNECTION TESTING: HYDRO CONNECTION: THREADED [ CONNECTION TESTING: PNEUMATIC Pen nWest 3"INLET (10 WELLS)/ 4" HEADER
LINE SIZE | PIPE SCH. PIPE MAT. FITTING RATING|  FITTING MAT. LINE SIZE | PIPE SCH. PIPE MAT. FITTING RATING|  FITTING MAT. LINE SIZE | PIPE SCH. PIPE MAT. FITTING RATING|  FITTING MAT. LINE SIZE | PIPE SCH. PIPE MAT. FITTING RATING|  FITTING MAT. X . 24"0D X 60" S/S X720 PSI
172 SCH. 160 SA106B 3000 PS! SA105N 12 SCH. 160 SA-333 GR6 3000 PSI SA-350-LF2 CL.1 12" SCH. 80. SA106B 3000 PSI SA105N /20 SCH. 80 SA106B 3000 PSI SA105N Exploratlon AB SOUR TEST SEPARATOR PKG
34" SCH. 160 SA1068 3000 PSI SA105N 38" SCH. 160 SA-333 GR6 3000 PS) SA-350-LF2 CL.1 3/4" SCH. 80 SA106B 3000 PSI SA105N 314 SCH. 80 SA106B 3000 PSI SA105N
I SCH. 80 SA1068 3000 PSI SA105N g SCH. 80 SA-333 GR6 3000 PSI SA-350-LF2 CL.1 g SCH. 80 SA106B 3000 PSI SA105N 4= SCH. 80 SA1068 3000 PSI SA105N "“"W'"E“a”ﬁ & NOTES QuANTiTY: ""C""GESE“"‘“%"‘Z‘S_’E]SZ_O‘I
1114 SCH. 80 SA1068 3000 PSI SA105N 1-1/4" SCH. 80 SA-333 GR6 3000 PSI SA-350-LF2 CL.1 1-1/4" SCH. 80 SA1068 3000 PS! SA105N 1-1/4° SCH. 80 SA1068 3000 PSI SA105N T8 o> DRAWNBY: DATE:
1-1/2" SCH. 80 SA106B 3000 PSI SA105N 1142 SCH. 80 SA-333 GR6 3000 PSI SA-350-LF2 CL.1 1-1/2° SCH. 80 SA1068 3000 PSI SA105N 112" SCH. 80 SA106B 3000 PSI SA105N 12-052 D. BRYAN | 09/14/12
2 SCH. 80 SA1068 3000 PSI SA105N 2 SCH. 80 SA-333 GR6 3000 PSI SA-350-LF2 CL.1 2" SCH. 80 SA106B 3000 PSI SA105N 2" N/A NIA N/A N/A = m,;2 SHEETZ%F 4 |sw15}2"=1 -0" |WW‘NG " 12-052 LAYOUT




